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UGC NET PAPER 2 JULY 08, 2018 SHIFT 1 PUBLIC ADMINISTRATION QUESTION PAPER

Note :

5.

ponass [

PUBLIC ADMINISTRATION
PAPER - 11

This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

Woodrow Wilson's article, “The Study of Administration” was published in which of the
tollowing journal in the year 1887 ?

(1) Political Science (2) Public Administration
(3) Political Science Quarterly (4) Public Administration Review

Who among the following advocated ‘Initiative’ as a principle of Administration ?
(1) Woodrow Wilson (2) R.B. Denhardt

(3) Henri Fayol (4) Lyndall Urwick

Which one of the following is not correct in relation to New Public Administration ?
(1) Value neutrality inits approach (2) Stresses for structural changes

(3) Focus on client centricity (4) Relevant to social realities

Which of the following are correct regarding the thurst areas of New Public Management ?
(a) Down Sizing of Bureaucracy

(b) Minimal state

(c) Maximum government

(d) New ways for delivery of Public Services

Select the correct answer from the code given below :

(1) (@), (®), (9) (2) (&) (. W) G} (@ ®)(d) 4) () (©) (d)

In order to address the difficulties due to lack of coordination among governmental
institutions /agencies, the Third Minnowbrook conference introduced a new concept known
as :

(1) Interoperability (2) Collaborative governance
(3) Network society (4) Deliberative democracy

IV Papecil
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1.

I foemd & o ‘7 WE i wefifgem’ = yenem 1887 H Fefafas § 9 fw sHa o gan
o1 ?

(1) uffafesa wgw (2) ufsers wefufee

(3) vuifafera w~w F9RE (4) ufsors wefafreem ey

Frafafea # 9 faem womoe & fogra & &9 8 '1ed’ =i 9Fed & £ 7

1) g2 e (2) TR, SREe
(3) T WA (4) Tewea e

T T I & 9§ frefaten § 8 T ad W R0
(1) 9% gfieshion 3 qeo qewer (2) 2rErTE REdH R o 3 B
(3) TEF fmadl T &M <a1 §) (4) arfser aafawasi % afa e

f=ifera ® ¥ 79 < W & Y@ 87 % 91 T 1 W ¥ ?

(a) SRS 1 STFR FH FH

(b) AT T

(c) IftEFTH TR

(d) i Seneil Y gemEET % 7 Al

e U T F2 el S H T FI

(1) (@) (b), () (2) (®) (©, (d) 3) (@), (b), (@) 4 (@) (© (d)

TN Seasll/ ARl § TR St HH S Al o THEH o, T feigs wem 3 A |
A Ty w6t stgar =1 gt fFa?

(1) sT=eE=nferadl (2) HEani A
(3) “2a% SRS (4) Toosfefer erea=
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6. Assertion (A) : Public Administration is benefited by easy availability of new tools of
communication following the Information Technology.

Reason (R) : E-governance has become acceptable form in contemporary governance,
not only because it is cost-efficient, but also because it is transparent and
time-saving.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(3) (A} is true but (R) is false.

(4)  (A) is false but (R) is true.

7.  According to F.W. Taylor which one of the following is not a quality of a good "foreman’ ?
(1) Manual Dexterity and Strength
(2) Tact
(3) Judgement

(4) Competence

8.  Match List - I with List - II. Select the correct answer from the code given below.
List - I List - II
(Author) (Book)
(a) George H. Frederickson (i) Modern Organization

(b) F.A. Nigro and L.G. Nigro (ii) New Public Administration

(c) Victor A. Thompson (iiiy Modern Public Administration
(d) Peter M. Blau (iv) Bureaucracy in Modern Society
Code :

@ () © (@
O O @ @
@ ) © G G
@) G G O W
(i) () (i)

(I Papecil
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6. ARIHAT (A): CF WET A GHAIS] F FAEO F AR F 7Y SYH Bl TS

Sy § wifoe g3 B

& (R) : ST Y FHbTA AT § 7 ket T FIT % FRO g e G
T T T % HRO off e §

L -

(1) (A) 7 (R) S @&t ¥ @0 (R), (A) T W& = 1

2) (A) 79 (R) S T § 95 (R), (A) T HE e T ¥
(3) (A) 9E g, 9G] (R) Terd €

(4) (A) TR 2, 9T (R) TR 2

7. UE.EKY, SoR F SguR Ffafag § § SF-w e o=y hidA ol o T8 82
(1) o fguar v a e

(2) AR AT

(3) frofa

)

(4) Wew

8. -1 gEt - I | ghfew =ifom) 9 5w me e & v s w1 e i

et -1 -1

(E® ) (& )
(@) IS TH. WSl () et FiAgsyE
(b) THT, TRl e TS (M) - virh USiafReeE
(c) TR ams (i) Wit fsorn TefReRH
(d) X TH, =S (iv) SJHRE T A e
&

(d () (0 (@
(1 @ @) @) @)
2 @ @ @) @
(3) (H) (i) (@) (iv)
(4) (i) (iv) (i)

porais HH\I\I\II\HIIIIH\\I\ i
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9.  Who among the following translated Max Weber’s book Wirtschaft and Gesellschaft into
English ?
(1) Robert Presthus (2) Edward A. Shils and Henry A. Finch
(3) Talcott Parsons (4) Robert Merton
10. Chronologically arrange the Elton Mayo's studies in an ascending order,
(a) Great lHumination (b)  First Inquiry (¢} Social Organization
(d) Human sentiments (e) Absenteeism
Select the correct answer by using code given below :
Code :
(1) (), (d). (¢), (b) and (a) (2)  (0) (b), (o), (a) and (d)
(3)  (b). (@), {d), (c) and (e} (4) (@) (b), (©), (d) and (e)
11. Which of the following is not correct regarding the closeness.of administrative management
to Weberian Bureaucratic Theory 7
(1) Both concern with optimal organisation of administrators than production workers.
(2) Both hold economic efficiency as its ultitnate criterion.
(3) Both concern for more organisation than its man.
(4) Both consider the organisation as a unit of its environment.
12. Which one of the following stands for Impoverished Management Style as per Blake and
Mouton Managerial Grid ?
(1) Low concern for result and Low concern for people
(2) Low concern for result and high concern for people
(3) High concern for result and Low concern for people
(4) High concern for people and High concern for result
13. Match List - I with List - II. Select the correct answer from the code given below.
List - I List - IT
(Main Activity) (Agency)
(a) Concerned with the object of the (i)  Technical Staff Agency
organization
(b) Expert in their area of work (ii) Line Agency
(c) Prevent the executive from taking (iif) Staff Agency
hasty and wrong decisions
(d) Responsible for housekeeping and (iv) Awuxiliary Staff Agency
purchasing
Code :
@ ® (© (d
1 6 @ @ G
@ @ O @ @
@) @ @ (w) (i)
@) @ ) (i)
rasess 1] IIIH“I\III!I\INI Papert
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=1 § 9 foruds gRT e e 1 P Wirtschaft and Gesellschaft #1 S0SH # starg foa a2
(1) U Teud (2) TS T Hiew wE I ¢ e
(3) TR UNH (4) s WA

wEed Tl F eAHAl W SIE H W SRRHER saafidd Sifey )

(a) TEM TR (b) TSI (c) TR WA
() T TR () erufeafa-ygfa

ﬁﬁqm@ﬁﬂﬁ ST T T I ;

(1) © (d), (), (b) 3 (@) 2 (©) () () (@) 3 (d)

3) () (a) (d) (©) ¥ (e) @ (@), (®) (), () 3 ()

Frafafaa # 4 hm o % Aewrd fagra ¥ ywmatE yea & faea & aR F ud @l 872
(1) =i, I0EA H o FIE HI AT GIRD & gaH WA & fa fHfaa €

(2) T enfd ger BT STI T AFEUS A € |

(3) Sl ST HEHETE BT I e % o) § arfees Teifd 2 £

(4) 2, TS T I IR Hi Teh 378 T & |

=% T = g0 @ 78 Hitufe firg § s vy Seft w5 afrrg Frenifea § @ fewd 0
(1) wRoml W e (fewa) a2 @ & wfa ft 5 s (fem)

(2) o W% e (Fa) 3 o & gfa 3= we (=)

(3) SRomEl 9 st e (Fawa) 5 @l % wfa &w o (Famn)

(4) i % wfd sifesk e (feran) & aRondl & ufe i eam (e )

T -1 R - 1| gafem Hifee ) R e e | ¥ I 1 9 st

Tt -1 et - 11
(e nitatafir) ( 3rf%reRToT )
(a) ESA % K¥A U Frafem () TRl EE AT
(b) o797 % &9 H favww (i) T aAfveRm
(c) RTATICTH %] Fegarst § iR (i) =E e
er Fof R § U
(d) & vEY iR EEert % fau S (iv) YRR WiE iy

@@ () (© (@
(1 @ @) @) @)
@ @ O @ @)
(3) i @ (v) ()

(i) (iv) () (i)

DINTERA

ﬂ 7 iﬁaper—ﬁ?
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14. Assertion (A) : The field Establishments are the implementing divisions of the Department.
Reason (R) :  The success of development programmes depends to a greater extent upon
the effective functioning of the field establishments.
Code :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A) is true, but (R} is false.
(4) {A) is false, but {R) is correct.
15. Maich List - ¥ with List - II. Select the correct answer from the code given below.
List - I List - II
(Kind of Authority) (Characteristic)
(a) Direct Authority (i) Intrinsic by special knowledge
(b) Delegated Authority (i) Based on seniority
(¢) Functional Authority (iiiy Intermediate agency between issuer and accepter
(d) Personal Authority (iv) Unbroken line between issuer and acceptor
Code :
@ ® () (@
O @ @ @ @
@ @) @ 6 @
G @ O @ @
@ 6 G G G
16. Which one of the following leadership thecries believes that “A leader is born and is not
made”?
(1) Trait theory (2) Chrismatic theory
(3) Behavioural theory (4) Situational theory
17. Arrange the following books in chronological sequence of their year of publications.
(i) ‘Policy and Administration” by Paul Appleby
(ii) ’Moti{ration and Personality’ by Abraham Maslow
(iif) ‘The Art of Administration’ by Ordway Tead
(iv) ‘"Work and Nature of Man’ by Frederick Herzberg
Select the correct answer from the code given below :
(1) @) G, (i), @v) (2) (i) (i), (i), (v)
(3) (i), (iid), (iv), (i) (4) (i), (1), (iv), (ii)
yores [ AN Fga
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INRYT (A) : &t Hear faum & fraragasi fefaem 2k €1
& (R) : forerra ISRl 1 Wherdl 9gd F9 & SRIF % gwrEl s gEen w i
BTGk
&6
(1) (A) T (R) 2 W& § 991 (R), (A) FI & = ¢
(2) (A) 0 (R) I WET € TG (R), (A) T W& =R TE B
(3) (A) 58 %, 95 (R) T T
(4) (A) e B, W (R) T B
it - 1 1 geit - 11 & gofaa ifa) = fou a0 e 98 s % =97 Fifsa
Tt - 1 it - 11

( T T YY) ( Tagraant )
(a) T T () T @ s
(b) TS W (i) St W e
(c) FHARHE Tl (i) WAl 3R TFRESAl & AT T TR
(d) FafEE T (iv) SHiwal IR WiFwRawa & " 1 24 aet H9
e

(@ (B () (@
(1 @ @ @G @
(2 () () G (@)
@) @ @ @) ()
4 @O @) @) (@
frefafeaa 9 @ F9-T1 g = fagra a8 7Fa € 15 ¢S 571 o €, =3 6l St ?
(1) T fagra 2) THERIG fagra
(3) TTERNER fagr (4) Refre fagr

f=iferd qEaehl 1 3 YRR 59 & STHR T FHIEHTER Saaieqd i |
() e e w it we gefhfrge’
(i) sweed Sl wt  afavE e gdifad
(i) SEF T ‘T M A SR’
(iv) e goier #i ‘g% g A9 ATE H'

Hra fau M F2 | WE TR H FIA P
(1) ), @), (), @v) (2) (). (i), (i), (iv)
(3) (i), (i), (iv), (@) (4) (i), (i), (iv), (ii)
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Who of the following has given the concept of 'Knowledge Worker” ?
(1) Rensis Likert  (2) Jane Mouton  (3) Robert R. Blake (4) Peter Drucker

The idea that “an employee is responsible to only one supervisor, who in turn is responsible to
only one supervisor, and so on up the top organizational hierarchy’ is defined as :

(1)  Unity of Direction (2) Subordination of Individual Interest
(3) Esprit de Corps (4) Unity of Comumand

According to Douglas McGregor;, which of the following is a Perennial Question in
Management ?

(1) Successful managers are product of situation.
(2) Successful managers are born or made.
(3) Successful managers are not born but made.

(4) Successful managers are born, not made.

Match List - I with List - II. Select the correct answer from the code given below.,

List - I List - II
(Author) (Book)
(a) Dwight Waldo (i) Development Administration
(b) Douglas McGregor  {ii) The Administrative State
(¢) George Gant (iii) Leadership and Motivation
(d) Nicholas Henry (iv) Public Administration and Public Affairs
Code :

(@ (b)) (o) (d)
(1) @ @ @ Gv)
) @ @@ @ @)
@) @@ (¥ @) (i
4) (v) @) @) @

Which of the following is net included in conceptual approaches of comparative Public
Administration by Henderson ?

(1 Bureaucratic System Approach (2) Human Relations Approach
Decision Making Approach (4) Component Approach

(i
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(b) ST HFIR (i) & wehfrdy e
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(a (b) () (d)
1 O @ Gy @)
(2 @) @) @ W)
G) @ Gv) @ @)
4) G@v) (@) @) @)
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23,  Which one of the following model is based on a synthesis of concepts of general system
theory of communication, cybernetics and energy conversion ?
(1) Transactional Model of Communication
(2) Information - Energy Model
(3) Communication Process Model
(4) Shannon Weaver's Model of Communication
24. The practice in U.S.A. by which one or more senators attempt to delay or block a vote on a
bill by extending debate for an indefinite time on a proposed bill is known as :
(1) Gerrymander (2) Filibuster
(3) Capitol (4) Absolute mandate
25.  Which one of the following statement is incorrect regarding F.W. Riggs theory of Prismatic
Society Revisited ?
(1) He modified his original views about the prismatic society in 1975.
(2) He adopted two dimensional approach for propounding this new theory.
(3) He introduced the degree of differentiation as the second dimension.
(4) Prismatic societies are divided into co-prismatic, orthoprismatic and neoprismatic.
26. Who among the following advocated for ISO certified “Sevottam’ model for strengthening
the network of ‘grievance redressal mechanism and an effective system of citizen’s charter ?
(1) Report of Sixth Pay Commission
(2) Report of the National Sub Committee of Central Information Commission 2008
(3) II ARC - 12! Report on Citizen-centric Administration
(4) Annual Convention of Central Information Commission 2017
27.  Which of the following is a oldest Municipal Corporation in the World outside UK. ?
(1)  British Columbia (Canada) (2) Connecticut (USA)
(3) Paris (French) (4) Madras (Chennai India)
28. Which of the following are correct regarding the characteristics of Development
Administration 7
(a) Client - orientation (b) Time - orientation
(c) Structure - orientation (d) Action - orientation
Select the correct answer from the code given below :
B @O0 @ @O 6 OO @ @@
1111 1 —
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1 1§ -7 W o IR Yo a9 Sl SRR % W gorel g # depedd
o HIUU T SHE ¥ 2

(1) HER H HE WG/ SR I

(2) I - H qE
)
)

(3) EER YR Uy
(4) 9 IR F TAR WY

3TFRIRT o1 Tek Wighal, Togd ueh 372 sifaes dqed fordt yanfas s W AaeR i faele s &
o 5w o ifafvsa = % EWien & 999 5 €, 39 Frafates § 9 55 2 S 82

(1) TEse 2) fwfoerez

(3) e (4) of SR (e §2T)

UF. 55, {09 % aaareEiy S EieeiEd qadl e % an § S w9 10 § 2
(1) 38 gHUET gErs el o ge faan #1975 F i R

@) 0 g8 7 fagra ¥ yfrares ¥ f-omandt gleso s

(3) A fafsmhieto i o i TR sEm % §9 4 ginfad fea

(4) TEOIEETE TS S FEYNET, IENATE a9 TaINEd § S 191

Frafataa 3 @ ey fuemm e % a1 16 Yyl A I S J2a &) Asied 990 %
fore o vy, &, wanfira Heived UIET W a6 H 82

(1) 3" = A gideed

(2) FrE gE SR, 2008 S wsdE syafafy o gfade

@) Teia wmats gur s #1 A StEg v w128 giee

) 2017 1 i A STERT 1 (M T

(4

1.3, F i) F fava & fwifes # § SR-w TR o q9@ @A §2

(1) Tafen wafa (Fare) (2) wAfES (FTUT)
(3) R (i) (4) =R (e )
fererra e 5t fardiornedf % deof § frerifera & & oo W& %2

(a) TRF - HEI (b) T - S

(c) T - T (@) - S

= fET 7T 2 & T S F =T Fifeu)

(1) @, ) () (2) (&) (), () (3)  {b). (o) (d) 4) (@ (@ ()

poress [ AN
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Assertion (A) : The Development Administration is ecological in nature.

Reason (R) :  The outcome of developmental activities are conditioned by the socio-
economic and political factors,

Code :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false,

(4) (A) is false but (R) is correct,

The Administrative Development is concerned with :
(a) increasing Administrative capability and capacity
(b) modernizing bureaucracy

() administrative reorganization -and rationalization
(d) administration of developmental programmes

Select the correct answer from the code given below :

(1) (a) (b) (2) (@, () (3} (b). (o) (d) 4) (@), (), (), (d)

Which of the following country was first to introduce the freedom of the Press Act, 1766 ?
(1)  United Kingdom (2) Sweden
(3) Denmark (4) Norway

Consider the following statements about Comptroller and Auditor General of India and
Select the correct answer using the code given below :

(a) C & AG is appointed by the President under Article 148(1) of the Constitution.

(b) His salary is determined by the Ministry of Finance.

(¢) He takes cath according to the form set out for the purpose in the Third Schedule.
(d} The administrative expenses of his office are charged upon Consolidated Fund of India.

Code :

1) (@) () (2)  (a) () (© G) @ @) @ (4)  (a), (b). () (d)

(T

[
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ARrmReT (A) : o wereA i yefa wififeafasis 21

ek (R): ferspraenen nfafatral & wfoms grafsres- snfie @ Torifass He g feifa
AT

T

(1) (A) 79 (R) EF1 W= ¥ 991 (R), (A) =1 9 A 2|

(2) (A) 0 (R) BH T €, 96 (R), (A) i TEl =90 T £

(3) (A) 98 ¥, 9G] (R) 7 2 |

(4) (A) T T, W (R) W& &1

et fawm g gefua 2

(a) Sl g8 TN WA T§ &

(b) R 1 SMYFFRTHIN FHET

(c) weEfR Ties TE geRieT

(d) TommEraE SREH B I

CIE| ﬁ!{.m@ﬁﬂﬁ ST T T I .

TR

(1) (a). (b) 2) (@) (b), © @) (). () (@) (4) (a), (b). (o), (d)

frafafea & 9 S9-U 29 7 99ugy 39 S waam Iu=m, 1766 =1 yaa faar?
(1) TR fHmen (2) weA
(3) T (4) -6

d % i sl wewrrar wiias & R # Freifea sudl 1 faan Fifve o 9 g e e &
TR HE IR H TG B |

(a) THa7k iR wermE ias & Ffa T2uf gR o =0T 148 (1) % e %1 S |
b) S I = Frfor faa wever gry foran s &

(c) 9% Fa Agg=t # Fuifa Wey % 7R yuy & 8

(d) SU% FECE H H WRA F "iaa i« w2 2

2) (@), (®) © () (@), () (d) 4) (@), b)) )

a), (b)
T




www.prepp.in .repp

Your Personal Exams Guide

33. Union Public Service Commission submits its Annual Report to the President under which of
the following Article of the Constitution of India ?

(1) 317 (2) 320 3) 323 (4) 323 A

34. Match List - I with List - IL. Select the correct answer from the code given below.

List - I List - II

(Training Institution) (Place)

(a) Indian Revenue Service Training (i) Vadodara
Institute

(b) All India Institute of Local Self (i) Hyderabad
Government

(¢) Railway Staff College (i) Mumbai

(d) National Institute of Rural (iv) Nagpur
Development

Code :

(@ () (o (d)
1 @ @ @) @)
2y @ @@ @) ()
@) @) @ ) @
@ @) @ @ @

35. Chronologically arrange the submission of the Reports of Committees to Government of India
on various aspects of Civil Services.

(a) Yoginder K. Alagh Committee

(b) A. Ramaswami Mudaliar Committee
() Satish Chandra Committee

(d} Surinder Nath Committee

Code :

1) @ Ok @ @ O @@ @@ 6 O.0@ @ @ ®) @)@k

36. Which of the following Articles of the Constitution are dealing with the "Office of Profit’ ?
(1) 102(1) and 312 (2) 191(1) and 197
102(1) and 191(1) (4) 312 and 197

T T
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A % Hfaur & Freaifea A 8 forg srpeae & stmnia He ot Qe s qegafa =1 1o aifdies
Jftae W& e § ?
(1) 317 (2) 320 (3) 323 (4) 323 A

et - 1 1 gl - 11§ gafed S 9 fae e e § ol I B T R

T - 1 it - 11

( WioTEroT HeenT ) (%am )

(a) R TS WA Qe Tem () FERY
(b) IfEe v TR e e (i) SETER
(c) T W Her (i) TR
(d) T T faE Heamr (iv) AR

(@ () () (9
) @ (i) @)
@ @) @) @G
i) @ Gv) @

(

1)
)
3)
4) () @) (@) @)

fafaw Gametl & fafim Teqell T YRG S9FR &1 Siafaal #1 f9Rl % TR F9 F FeRhauR
AT i |

(a) IR . ere wifa

(b) T THRETHT Yerferay winfd

(c) e o wiafy

(d) |i=Ty wiafd

e

L @ kB @ G @@ 6) b)) @:d @ ©)@)d 9

frefefad o 9 SH-8 G Sses/ TEdH oy o 9 3 Wit 22
(1) 102(1) &R 312 (2) 191(1) 3R 197

(3)  102(1) 3R 191(1) (4) 312 vE 197
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Which one of the following is not a dimension of Overlapping ?
(1) Bazaar - Canteen Model (2) Poly - Communalism
(3) Nepotism (4) Integration

Which one of the following is incorrect regarding the objectives of Development
Administration ?

(1) Economic Growth (2) Social Justice

(3) Democratization of system (4) Maintaining status-quo

Which one of the following defined sustainable development as “development that meets
the needs of the present without compromising the ability of future generations to meet their
own needs” ?

(1) UN conference on Human Environment

(2) UN Resolution on The Future We Want

(3) Bruntland Commission’s Report-"Our Common Future’
(4) Sustainable Development Goals

Consider the following about the Prime Minister's Office (P.M.Q.) in India and select the
correct answer using the code given below :

(a) It enjoys status of a department,

(b) It has replaced Prime Ministers Secretariat (P.M.S.)

(¢) It has few attached and subordinate offices under it.

(d) Itis a line agency.

Code :

1) @), ® @ @O0 6 @0d @ @)@

Which of the following_ Articles of the Constitution of India are related to the distribution of
Legislative powers between Union and the States ?

(1) Article 245 to 263 (2) Article 245 to 255
(3) Article 246 to 290 (4) Article 245 to 300

Which of the following is not included in Seven Point Directives issued by Supreme Court of
India in 2006 with regard to Police Reforms ?

(1) Constitution of a State Security Commission (55C)
(2) Setting up a Police Complaints Authority (PCA)
(3) Setting up a Networking of Police Organizations
(4) Setting up a Police Establishment Board

poress [N T
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frsifera § 9 $19-01 e Sfa=erd = amam T8 27

(1) ¥FR - $EH Higa (2) &g — WEHRIgEa
(3) W% - YWSTER (4) T

ferenta oA % 39l % dedl F fosifra o § S wR Y2
(1) s gfg (2) Grfasw =

(3) AR T TAHAN B (4) FATEAfA T @

forforfion & & fererl W forshrer i e aieon €1 718 & 5 forehrm, st difegall bt STeh! STiervareheia
I YU F AT F GRGA R fa adum w1 strervaswaRi w qu e gt ?

(1) WM S Heie G T THer

(2) T W g et Hge U W g

(3) FUS M F TR - ‘SR wiET FE

(4) Taa fasrm @sm

YRa H YuFAE FEes (P.MO.) & 9§ Freifera wfaer st o 99 fae ne e =t wrEa
U GE I9T H TG RITIC

() T s & TR 9

(b) TEF FuEHC wreaed (P.M.S.) F afaeefua fea E

(c) 9% A7 iaya dorw iR vy wrte 2

(d) F% T T AH T

T3

(1) (&), (b) (2) (a) (b) (9 (3) (@), () (d) 4) (@), (b), (o) (d)
9Ra ¥ GRauA ¥ wA-8 ot Y vE U F Aen faurd wiwdl % faam § deifa §2

(1) STH=7 245 | 263 (2) ST 245 § 255

(3) 3T 246 ¥ 290 (4) 3T%e% 245 ¥ 300

gfem gl % AR § 9RG & SeIan e g1 2006 § 9K W o e F fefafea 4 @
S-S 7 €2

(1) TF e i (TE T W) FE

(2) Yiewm ferepra gifeeor (91 €t Q) T

(3) gfera Tresll it Teafd W

(4) Yferwm deards S $i T
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Which one of the following states in India spent highest percentage of state budget on police
expenditure during 2015-16 ?

(1) Jammu & Kashmir (2) Punjab (3) Nagaland (4) Manipur

According to 14™ Report of 274 ARC which of the following is/are the core
principle/s of Financial System in India ?

(a) Focus on results

(b) Adopting modern financial management practices

(c) Budgeting to realistic

(d) Transparency and simplicity

Select the correct answer by using code given below :

1) (@, ) (2) (b)) (d)

3) @ © @ @ (@ ®) (9 @

Who among following made poetic description about collector during British rule as :
“In framing rules for primary schools

on rural exploration

My active mind shall seek and find

congenial occupation”.

(1) Phillip Woodruff (2) O Malley

(3) Ramesh Chandra Dutta (4) Ananda ram Baruah

Central Vigilance Commission is a :
(1) Constitutional body (2) Statutory body
(3) Judicial body (4) Executive body

Which one of following is correct regarding Second Administrative Reforms Comimission’s
recommendation on the tenure of the chief secretary ?

1 Year (2) 2 Years (3) 3 Years (4) 4 Years

(I Papecil
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2015 - 16 ¥ RA & g I 7 3197 U 992 @7 waitus wfave, yfae ) a4 fra 22
(1) ST FHR  (2) @ (3) MRS (4) wiTQR

T YR GUR A w149 fOR % srgen fefataa § & $9-w yRa § ot gonedt =
e fagra 8/87?

(a) ftomH Hfa

(b) i foxita geive giadi =61 st

(c) TTforral % SR W 9512 FIR FEAl

(d) TR & aEE

frefafad fou e e § 9 9t S 1 =97 Hif

(1) (a) (d) (2 ) (o) (9

(3) (@ (o) (d) 4) (@ () () (d)
fafem e % A Ferer % AR ¥ Frafafen 4 @ fres w90 39 TR B e
" mafier TRel % fe HE & F e o

T g T

ATHA HITE

(1) foellT g6 (2) T

(3) TR T (4) oTFE TH e
T R A E

(1) T Houfw e (2) U= wifafues fem
(3) T =fas gwr (4) UF FEHR e

Hen wfaa & e & aR | Ty semafte gur smim ot frifea 3§ @ 2 o fomfa w @ §7

1) 2) 234 (3) 3o (4) 499

® 1
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www.prepp.in

prepp

Your Personal Exams Guide

48. Match List - I with List - II. Select the correct answer from the code given below,
List - I List - II
(Chairman) (Committee)
(a) D.S. Kothari (i) Committee on the Recruitment of Civil Services
(b) Satish Chandra (ii) Committee to Review in-Service Training of IAS officers
() YK. Alagh (iii) Committee on the Recruitment Policy and Selection
Method
(d) B.N. Yugandhar (iv) Committee on Civil Service Examination
Code :
@ ® (© (@
(1) @ Gv) @ G
@ O G v @
@) @) @ @) (@)
@ (v @ @ 6
49. Assertion (A) : The Money Bill can be introduced in any House of Parliament only on the
recommendation of the President.
Reason (R) :  The approval of money bill by the Rajya Sabha is, in effect, only formal and
routine process.
Code :
(1) Both (A) and (R) are corréct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of {A}.
(3)  (A) is true but (R) is false.
(4) (A)is false but (R) is true,
50. Which of the following is the time period fixed for implementation of 14" Finance Commission
Report ?
(1) 2014 - 2019 (2) 2015 - 2020 (3) 2016 - 2021 (4) 2017 - 2022
51. Which of the following statements are true regarding ‘United Nations’ Sustainable
Development Goals or 2030 Agenda ?
(a) The Agenda is a broad intergovernmental agreement that acts Post - 2015 Development
Agenda.
(by It does not distinguish between “developed” and “developing” nations.
() Itis based on the United Nations resolution entitled “The future we want”.
(d) The role of global civil society is significantly restricted in this Agenda.
Select the correct answer from the code given below :
(1) (@) ) () (2 @ () (@
() (@) (b)) 4 (@) (1) () )
S 111 1T —
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et -1 % gEi - 11§ gafem sifaw) =19 fu g2 O o 3 o w79 Sifag

gt - I gt - 11
( 3reHsy ) (wfafa)
(a) E.TE. B @) oires Sanell @ wdt ¥ fo wfafy
(b) Y =R (i) TIRG ARTCUH. AT S qFAa™r % JAITAHT &
e wfirfe
(c) oM. T (iii) ST =i T =TE ugla % fog wfufa
(d) @, e (iv) % e giten & feg wfafa

a (b) (0 @
n @@ @Gy @ @)
2) @ @) @) (1)
3) @) @ (v)
4) () () (i) ()
IR (A) :  Shoet Tngrd 1 FawRw R o fadaew 1 dug % e off e 9 et fwa

ST TR B

T (R): areas H, Ty g0 o7 fadas #t w@iefa v shvenfie e e afwa

(1) (A) @ (R) S €&t-€ a9 (R), (A) i U swren ¢

(2) (A) 991 (R) TH1 €& &, 9 (R), (A) T GE =men 728 ¥
(3) (A) € 3, W (R) =W L

(4) (A) 7T B, UG (R) TR 2

149 Tora @i % wfasea & fraremm % fou frefafea § & Sh- semafy ffea =t w272
(1) 2014 -2019  (2) 2015-2020  (3) 2016-2021  (4) 2017 - 2022

frefafga § § $9-8 wu7 S50 T & Haa Tasra wedl s1ger 2030 TSt % T § T §2

(a) TSI U A9 STeR-TTHH Gueiar & 51 2015 % uver faem ¥ i 7 fom o = =
gl

(b) ¥ ‘fawfoa’ qun* foemmaeer” 39 & o= 978 T8 o

(c) 9% 69 T & v ' & W o g’ W e ¥

(d) =W wsiE ¥ ofvaes fafae 9ameEt &1 fir i SR i w5 e T R

A faw e e W IeET TR gU W SR w9 Hifey

1) @) O) © 2 (@) ©) @
(3) (@) () (@ @) (@), O, ) (@
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Which one of the following committee /commission recommended the introduction of
Performance Budget in India ?

(1) C. Rangrajan Committee

(2) LK. tha Commission

(3)  First Administrative Reforms Commission

(4) Second Administrative Reforms Commission

Which of the following statements regarding the Whistle blowers Protection (Amendment)
Bill, 2015 are true ? |

(a) The term Public Servant includes the higher judiciary.

(b) It prohibits any person to report any corrupt act if it relates to security of India.

(c) It prohibits disclosure of those acts which are prohibited under the Official Secrets
Act, 1923

(d) Any person who makes any disclosure which is false or misleading shall be punishable
with an imprisonment upto 2 years or a time upto I 30, 000.

Select the correct answer from the code given below :

@ @) o), © @) ®)© @
G @) © @ 4 (@), ®), (),
Which of the following are the principles of Budgeting ?
(a) Balanced (b) Comprehensiveness
(¢) Estimates on a revenue basis (d) Rule of Lapse
Select the correct answer from the code given below :
(1) @) (k) () (d) 2) (@) ), (9
G) () (o), (@ @ ®)© @
Match List - I with List - I1. Select the correct answer from the code given below :
List - I List - 11 |
(Concepts) (Explanation)
(@) Integrity (i) advice and decisions are based on rigorous analysis
of the evidences
(b) Honesty (iiy putting obligations of Public Service above personal
interest
(c) Objectivity {iii) acting solely according to merit of cause and serving
equally
(d) Impartiality (iv) truthfulness and openness
Code

@ B © @
O @ 6 @ 6
@ (v @) G 6
@) O @) @ W
@ @ @) O @)

i
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Ard H Freafh s o ar s % fog Feaifea 3 8 feg afafay s 3 st st 4r?

(1) 4, s wfufa (2)
(3) TUH YIEMAE GUR 3TERT (4)

el A FHHRA
et ot QurR M

fermeT =oilaT QRan (HeneA) foe, 2015 & I =i § @ S wR €72
(a) TIF YaF v W I St afmfad ¥
(b) MG HE T T HT &1 § TEA T 9 STF TRER & FA F 0O F6 5 fag g w1

S

(¢) I% A S % AR Py T ¥ S TR T st 1923 F e oy T

g

(d) I A T gord F © S gel A fTvHa $ aen & @ W 2 T 9% F ' @
¥ 30,000 (15 &) o% < fron s waan &

T 5T T P2 § WE IW H A HI9
(1) (@), (b) (¢ (2)  (b), (o). (d)
(3) () (o) (d) @ @ O (9 (@
Fufen & fagm Fafafaa § 9 sE-9 €2
(a) wEfer (b) STl
(¢) ST WA v (d) =T
9 feu v w7 | W& 3T WA A
1 @ () (0 @ (2) (a) (b), {0)
(3) (a). (b), (@) (4) () (o) ()
eIt - 1 3 g - 11 ¥ gafea sifae e fog T 62 & S S oo st |
R -1 et - 11
( 3TTERY ) ( =TT )
(a) weAfTST @) Tt ud fols wedi % @ faveran w e €
(b) IHFGH (i) THHS & Il w1 e fedl @ W @
(c) T (i) A H F UG F SHER THFG b YR T HE HA
(d) Foaezr (iv) Hadl T g

e

(@ (b) (@ (@
(1) (@) @ @) @)
(2) (iv) @) (i) @)
{3) (B (i) (ﬂ) (iv)

i) (iv) (iii)
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Who states that “Science is an attempt of the human mind to find a connection between
world of ideas and the world of phenomena™ ?

(1) P.V. Young (2) J.J. Thompson
(3) Einstein and Infeld (4) Goode and Hatt

Which one of the following is not a Maharatna Company Currently ?
(1) Coal India (2) Indian Oil Corporation
(3) National Aluminium Company (4) Bharat Heavy Electrical Limited

The main elements of Government Policy towards Public Sector Enterprises under New
Economic Policy, 1991 were :

(a) Disinvestment of Government equity in all non-strategic Public Sector undertakinigs to
26 percent or lower if necessary.

(b) Those Public Sector enterprises which are potentially viable have to be restructured
and revived.

(¢) Welcoming Private Foreign Investment and Foreign Technology.

(d) Those Public Sector undertakings which cannot be revived would be closed down.
Select the correct answer from the code given below :

(1) (&) (b}, () (2) (@) (b), (d)

(3) (b) (o), (d) 4 (@ ), () @

Which one of the following principles provides protection against the effects of extraneous
factors in an experimental research design based study ?

(1) Principle of Replication (2) Principle of Randomization
(3) Principle of Local Control (4) Principle of Matching

Which of following is incorrect about the merit of interview method ?

(1) Higher vield of responses

(2) Higher reliability of responses
(3) Procurement of supplementary information

(4) Possible to ignore the effects of human equations

IO
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g fruw oA ¢ T faam faadl & oyg oI yeeell % Wy & "oy gadl &) @e & g
Tfigss o yEE g1

(1) dtat, gn (2) S g
(3) STEWRET i FThee 4 TETEER

freifera ® ©, 79 W99, DH-H FeReT FHH1 T8 € 7
(1) = gfea (2) sfvgam g srieE
(3) e veyfhfim weE (4) wE ¥ e fa

T anfeler Aifq 1991 % a2a WESiH &9 F T H IR WeR) AT & T a5 3

(a) A TR &l WSt O 3Tl W afe savas @ @ s fafae 26 wfaed sts w6 @
LETIES

(b) 3 HrEITH & ST S wvea w9 9 fammgm € 3% g v gsifoa faean s =t

(c) Frsit faelt frar ol fordelt siedfirart =t wamma |

(d) T TS & S S QASiad 951 81 Sehd 376 9% FX ol J1et |

A fIu T F | WE ST 1 T FOIT
(1) (@), (b), (0) (2) (@), (b), (d)
(3) (b, (o), (d) 4) (@), (b), (c), (&)

ffafe ¥ @ F9-w1 fagr yrEiiie viy sifuses syl srerEe o a5 el & 99E] 9 e
Yo ] &7

(1) Wi 1 g () AR fagr
(3) A fEEm w fag (4) YHoA =1 fag=

TR IS H o % aR H freafafen § 9w €7
(1) @ifies 3 o Ee

(2) S @ i favemraa

(3) STIYLH SRR &I 9T BT

(4) I WO G i ST HHS BT
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61. Read the following statements and select the correct characteristics of usable hypotheses by
using code given below :
(a) Hypotheses should be related to a body of a theory.
(b) Hypotheses should be empirically testable,
(c) Hypotheses should be grandiose in scope.
(d) Hypotheses should be specific one.
Code :
(1) @) k)@ @) (@) (@ (3)  (®) (c) (@) 4) (@) ®) @)

62.  The Public Sector Undertaking (PSU)/ Public Sector Enterprise that has an average annual
turnover of more than ¥ 25,000 crore/an average annual net worth of more than
X 15,000 crore during last three years is called :
(1) Miniratna Category | (2) Miniratna Category I
(3) Navaratna (4) Maharatna

63. Which of following is not a characteristic of the scientific method ?
(1) Reliance on empirical evidences (2) Commitment to objectivity
(3) Value orientation (4) Generality

64. Consider the following statements on the objectives of the foundation course of Training to
the civil servants in India.
(@) Imparts basic uniderstanding of the environment of the government.
(b) Fosters the attitudes and values required in every civil servant.
(c) Develops the professional competence.
(d) Develops the esprit de corps among officers of different services.
Select the correct answer by using the code given below :
(1) @ (®) (© (@) (@) () (d)
3) (@) () (D 4) (@) ®) () ()

yonas [ [HFNAANINI Fga
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(a) URemeT et fagra % w9 Hefvg 29 =ifEw)

(b) uferew 1 sTgufaes gfie § v Ira 2 =@fey )

(¢) ufeReuat =1 <Y fawmer 2 =g |

(d) ofisea faemitera g1 =fea |

T

(1) (&) (b), (©) 2y (@) ), (@ (3) (b} (c), (d) 4 (a), (b), (d)

o2 T IR/ Ak e fere siea anfifer e € 25,000 g T @it € =1 fawet fiee
61 = frerer wftmeefh T 15,000 02 9§ #1fiE =7 © ¢, 3 Feond § 7

(1) TaFRe 41 -1 2) fafwet 4o - 11

() TeRHA (4) TRRS

frafafaa § @ =0 Gt asfa =1 fadmm =& &2
(1) svEsa wedl o s (2) aEgfTeeW % ufa FeEEsa
(3) A ST (4) R

d § “Alehdaanl T S Al ufvtenn & enered wiewshH % Syvdl 4 Had # friferd el w
faar =ifs)

(a) TER % UHEw HI Hifcl T9F < |

b) A YA a9 wHgadl 1 faRiad A S TS o A9 oy STEvEE § |

(c) TAEIIR gHal = Tashiad |

(@) Tafim darsti % sty o weafte St o 1 sirern forrfaa =wem

-

< fqU 7T F2 | W W FH I KT :
1) (@ @® ) (©) (2) @ (9 ()
(3) (a)(b) (d 4  (a), (), (9, (d)

)
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Chronologically arrange the themes of Davos conferences of different years :
(a) Rethink, Redesign and Rebuild

(b) Responsive and Responsible Leadership

(¢) Resilient Dynamism

(d) Creating a shared Future in a Fractured world

Select the correct answer by using code given below :

(1) (@) ®) () (@) (2)  (b), (c), (d) ()
(3) (@) (c) (b), (d) 4 (®), (d), (), ()
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“Corporate Governance reforms are and should be seen as part and parcel of the broader
Central Public Sector Enterprises reform program rather than as a stand-alone or substitute

reform in India”. This recommendation was made by which agency ?
(1) World Bank (2) International Monetary Fund
(3) Asian Development Bank (4) Department of Public Enterprises - India

Match List - I with List - II. Select the correct answer from the code given below :
List - 1 List - I1
(Commission} (Chairman)

(@) Expenditure Commission (i) AK. Mathur
(b) Commission on Reforms  (ii) K.P. Geetha Krishanan

of Criminal Justice System
(c) Second Commission on  (iii) M.M. Punchhi

Centre-State Relations
(d) Seventh Pay Commission (iv) V. Malimath
Code :

@ ® (@ @
1) @ @) @ @
2) () (i) (iv) (i)
@) @) @ @ )
(4) Gv) (i) (i)

JIITHI

—
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65. TEE GEEA! % Tawall w1 %% afan SEFEaER Srafer S
(a) TR, T:eifvehed wE AT
(b)  srferanier Td frar Sge
(c) TIEER TfER
(d) dfsd faya o aEn wfas =1 g=
e fag e e # F W I W T i
(1) (@) (b), (), (d) (2)  (b) (¢). (d) (@)

(3) (@) (©), (b), (d) @) () (d), @) (a)

66, ''HUNZ WA YU 1 9UF (FLUSIEAMN ) S1a] Ahicus GUX &t Fod Jeg Fd T &
ST GUR FEHY & IF F IR W <@ 9 =)’ I8 fawi fea sifasm gra ot o 7

) fava (2) St g1 wm
(3) TREE faeE 9w (4) TR 3T faam - 9Ra

67. et -1 W=l - 11 § gafea wifaw) 9 fau 7o g2 | 9 s & w9 Fife

et - 1 el - 11
( 3T ) (|vrafa)
(2) 94 AEM () TH WP
(b) HUUHE =E YUEl YR =M (i) .4 TiEeE
(c) == =g g R fgdia s (i) TA.TA. YSt
(d) HEE I M (iv) ot Afemy
&

@ B © @
@ @ @) @
@ O @ @ @
@ @ 6 @
@ & @ 6 @

(i)
DINTERA
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NITI Aayog’s ‘Three Year Action Agenda’ covering policy changes and programmes for
action plan is related to which of the following period ?

(1) 2014 - 15 to 2016 - 2017 (2) 2015 - 16 to 2017 - 2018
(3) 2016 - 17 to 2018 - 2019 (4) 2017 - 18 to 2019 - 2020

Which of the following is correct regarding the subject matter of Ministry of Social Justice
and Empowerment ?

(a) Scheduled Castes (b) Scheduled Tribes

(c) Minorities Affairs (d) Differently Abled Persons
Select the correct answer from the code given below :

(1) @ (®) © (2)  (b) (o) (&)

(3) (a), (d) 4) (b)) (9

Which of the following State Taxes that have been subsumed within the Goods and Services
Tax ?

(a) State VAT (b) Sales Tax

() Service Tax (d) Entry Tax (All Forms)
Select the correct answer from the code given below :

(1) (@) @), © 2 (@) ®) (@) @

3) (@) (k) (d) @) () () ()

Which of the following are the key challenges listed in “Some inputs for Draft National
Education Policy, 2016” by the Ministry of Human Resource Development ?

Select the correct answer by using code given below :
(a) Quality of the education imparted
(b) Equity in education

(c) Pre-School education for children in the age group of 4 - 5 years should be declared as

a right
(d) Financial commitment to education development
Code :
1) @ ® 2 @00 @ @O @ @b

(T Papecit
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Fife aftert Sit wrEdwal =t gafoae &6 e S 9o % fau Hifa s @ frendfa st
Fdwn’ frefafas 9 9 fou Foars § Hafad g2

(1) 2014 - 15 ¥ 2016 - 2017 (2) 2015 - 16 § 2017 - 2018

(3) 2016 - 17 & 2018 - 2019 (4) 2017 - 18 § 2019 - 2020

Tt v ug Sifusmifia T 5 foggesg & S § s udt ¥ 7

() ey st (b)  TTgfER S
(c) SITYHTIF AW (@) fasm < sH
= T3 710 e T W I I HITAC :

(1) @, ®)© (2) (b), (c) (d)

(3) (a) (d) 4 (b) (9

T I Q FrAifera 3 4 S Q¥ S oy W S W e R €2

@ T3 (b) fae &

(c) W H (d) ¥ & (W THE H)
e U T e § FE ST W I R

(1) (@), ®) (© (2) (&), (b), (<) (d)

3) (@), (b), (d) 4  (b) (o) (d)

HE HHe fae wee gr g faan Hfifq wrew og $9 9T, 20167 1 @ Afaal |
Fotifora 1 & fore 1 g e T £ 7

e f&U 7T e &1 TE FI B el S F T BT

(a) = T faen # TUEE

(b)  Toreq H =y e

() 4-599 F A F T ¥ THA T Faen #1 v iR sift wow =i

(d) Torem % faepry ¥q fodia wfasrgan

C T

(1) (@) () (2) (@) (b)) © 3) (@ (b) (d) 4) (@) B), () (d)
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Match List - I with List - II. Select the correct answer from the code given below :

List - I List - IT

{Policy Model) (Core Thinker)
(a) Elite/ Mass Model (i)  Carl]. Friedrich
(b) Group Model (i) Arthur F. Bentley
(¢) Institutional Model (ii) C. Wright Mills

(d) Organized Anarchy Model (iv) John K. Kingdon
Code :

@ () (© (@
) @ @ @
2 @ @ @) @)
@) @ @) @Gv) (i)
@) (v) @ @ )

prepp
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Name the organisation which has facilitated to establish a network of N.G.O.'s for setting up

grain banks in Maharashtra.
(1) Food Corporation of India (2) Amul

(3) Ministry of Agriculture, Govt. of India (4) Academy of Development Science

“Policy is originated, implemented, adjusted, re-implemented, re-adjusted ad-infinitum”.

The statement represents which of the following Model ?
(1) The Elite Model (2) The Group Model
(3) The System Model (4) The Institutionalist Model

The Constitution (97" Amendment) Act deals with which one of the following ?
(1) Office of Profit

(2) Constitutional Status to Co-operative Societies

(3) Right to Education of Children (6-14 years age Group)
(4) Provision of Goods and Services Taxes

L
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72, G -1 G - 11 § gafaa Sifae) 9 e 7o g2 9w 5o & =9 #ifag

et -1 g - 11

(i a=T) (9 fa=m= )
(a) Taftre/smrasm we () et ot Helw
(b) T WEY (i) 3T U, g
(c) e gy (i) Hl. wge firey
(d) wnfad usERar yrEy (iv) 3%, fhmred
:

@ () () (@
(i) @) @ G
) @ @i @Gv)
() () (v) ()
(iv} (i) (i) (iii)

(1)
(2)
(3)
(4)

73, 39 WIS H W G A TeRnE B ST Sl @i T ¥ TR TR YS! o U ead
wenfyg foan ?

(1) wrRdE awn (2) ST
(3) FiN HaeE, Y WEHR (4) Torerg fage sreEH

74. “‘Hifq I F T I TR, TR, [wEa I g 17

T HUA HITE WA ST 7
(1) 3w gfaam (2) HYE WiaHH
(3) =N Wi (4) e SR

75. 97 & duifre deirem sifufrm & freaifera o @ forug waw 32
(1) S RH
(2) wEHN Hfafel o gaumfe T 9
(3) 6-14 99 AP T & Tl & a0 P AUPR
(4) o5 TE Gar = gad gEaE @
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76 Which of the following policy model is designed to maximize ‘net value
achievement’ ?

(1)

Rational (2} Incremental (3) Mixed Scanning (4) Systematic

77. A “Nagar Panchayat” under Asticle 243 of the Indian Constitution means ?

(1)

The biggest Gram Panchayat of a district
A Transitional area from rural to an Urban area
A Smaller Urban area

An area of a Panchayat partially coming under a town and partially under a village.

78. Assertion (A) : Public Policy is a purposive course of action that an individual or group

consistently follows in dealing with a problem.

Reason (R) :  DPolicy is an instrument through which society regulates and attempts to

channelize human behaviour in acceptable directions.

Code :

(1)
(2)
(3)
(4)

Both (A) and (R) are correct and (R) is the correct explanation of (A).
Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(A) is true, but (R) is false,

(A) is false, but (R) is true.

79. Arrange the following in the chronological order :

(2)
(b)
(c)
(d)

Royal Commission on Decentralization
Ripon Resolution
Montague’s Declaration

Mayo Resolution

Select the correct answer by using code given below :

(1)

pousss LIV

(b) (d) () @) (2} @) (. () ([®) () (a)(d @& (d) ) @) C
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76, Tr=ifea O @ $9-W WEY @ g F afuean mid % fau frefua oo w22

(1)

Arfehes 2) wia® (3) foiya fawcomr  (¢) =afem

77. WIRG % WO F ST 243 F 3009 OF TR TuER o fmm g7

(1)
(2)
(3)
(4)

T | FF S WHEAO 4
Yo 1 T & S e PR F a1 2T v a F sdE @

78, fmem (A): < Hifd v wydem e 2, a9 safse sigen agg foedt waen 8 froed Rg

fR®R s §)

T (R) : Fifs v W weF ¥, f59F mem 9 a9 Aed SaeR ) Wi w8

fafrafag aw dafaa =@ =1 yag sw@ 2

(A) T (R) SF1 92 ¥, 9901 (R), (A) & & =wem T

(A) 7 (R) 2F1 5 € 9 (R), (A) Y ©ét = = )
(A) ¥& B, 9] (R) 7o B 1

(A) T €, W (R) WE R

79, frafafaa o semss § safea st

(a)
(c)

st W Waa FAeH b) foa g
T3 Sun (d) W T

i fw T e W e B WE I H T i

(1) (b), (d) (_
pouss | I

;@@ @ @ b)) d B O e @ (D b) e e
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80. Consider the following characteristics of Institutionalist model of public policy :
(a) It focuses on the organisation chart of government.
(b) It describes the reporting arrangements and duties of bureaus.
(c) It takes into consideration constitutional provisions, administrative and common laws,
(d) The living linkages between bureaus are also considered as important one.
Select the correct answer from the code given below :
(1) (@) (b}, () (2)  {a) () (d) (3) (b), (o) (@) #) (@) () (), (d)
81. Who stated that :
“Public Policy is the outcome of the struggle in government over who gets what” ?
(1)  B.Guy Peters (2) Eloise F. Malone
(3) Eulan and Prewitt (4) Clarke E. Cochran et. al
82.  Which one of the following states is not covered in first phase under ‘Climate Resilience
Building among Farmers through Crop Residue Management’ Project under National
Adaptation Fund for Climate Change (NAFCC) ?
(1) Himachal Pradesh (2) Uttar Pradesh
(3) Rajasthan (4) Haryana
83. Consider the items included in the Eleventh Schedule of the constitution and select the correct
answers from the code given below :
(a) Public distribution system
(b) Prevention of Cruelty to animals
(c) Non-conventional energy sources
(d) Libraries
Code :
1) @FO @ @Od @ O0d @ @ o)«
1 11—
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| i & deaERl gionE w1 Frafafen el ) e S

(a) T THR F WA AL W HiZd oh ¢

(b) a2 =R ! RfEn oraen w6 S92 19U w6 )

(c) IT WA Suasl, Tesiieh T8 TG HITA1 ol A9 H @ ¢

(d) =l % <= ufra desl &1 ot veeye qea R

e fau 7T H2 H TEEA ¥ WEH I FH =TI R ;

(1) (@) (b) () 2) @ © @ (3)  (b) () (d) 4) () (b), (), (d)

ferem e o e

"wrer itfe TR ¥ 51 gud w1 ufiomm & f g o fremn 21

(1) @t mE el (2) TIEH TH. W

(3) TIE &R e (4) Tk L P W

fretafaa 7 @ frm = 1 Sterery aiterd= Feed T o HIY % sfaria wHe srEfie yeuT
RS % WW B e SR H Seary ek i % qed Fen il P § 2

(1) Ter=e wew (2) WA
(3) USRI (4) g

Hfaerm w1 Tareat sryEt o wfmfag Freite faw w faen Fifs ok fiu e e w gema 9
Hel S W 994 S |

(a) W faavn goned

(b) SR o i e froy

(c) TR i Sl &

(d) =

L T3

(1) @) ({®)(«© 2 @, @) (d) (3)  (b) (¢) (@) 4) () ®) (), (@)

DINTLFAARTRA

|




www.prepp.in

prepp

Your Personal Exams Guide

84. Which one of the following is not correct regarding Pradhan Mantri Awaas Yojana-Gramin
(PMAY-G) ? |

(1) PMAY-G was launched on 1% January, 2016
(2) Aims at providing a pucca house, with basic amenties to the beneficiary
(3) Specified financial assistance is extended to the beneficiary for constructing a unit

(4) The beneficiary is entitled for 90/95 person days of unskilled labour under MNREGS

85. Which one of the following is not a constraint faced by the administration of cities in India ?
(1) Insufficient generation of revenue
(2) Non-fulfilment of Municipal Personal Positions
(3) Reliability of Utility Services
(4) Adequate representation of Women

86. According to the provisions of the constitution a “Metropolitan area” means.?

(1) An area having a population of five lakh or more
(2) An area having a population of ten lakh or more
(3) An area having a population of fifteen lakh or more

(4) An area having a population of twenty lakh or more

87. Which one of the following has promised to ‘Ensure healthy lives and promote well being for
all at all ages’?

(1) UN Conference on Health for All

(2) Millennium Development Goals (MDGs)
(3) Sustainable Development Goals (SDGs)
(4) Common Future Report

88. Which one of the following is the recommendation of 2 ARC in its 6th Report (Local
Governance) concerning District Rural Development Agency (DRDA) ?

(1) DRDA should be discontinued

(2) DRDA should be strengthened with more power

(3) DRDA should be merged with District Committee

(4) DRDA should work under the supervision of State Planning Board

poress [ IAVHRELILA
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Freifera & § garw=h ste dem-amEer (9eH T - ) % e § e ad g 22
(1) WRuIE.-Sf. F11 S9Ed, 2016 | ey fwan

2) TEeH 3399 el B geya el | g, T TR HEH e e §
3) TH IR () % fafmivr 2g et = fadniiea ot wemar yem =1 S €
(4) el FEOT % R 90 - 95 HH e H A G H TSR B

e,

G & el & e gr frAifea J O few foawan (amen) =1 w8 o s @ €7
(1) TS & TS SURA

(2) R HifHE ga W WA A B

(3) = yglawet & fagereriiaan

(4) wfgened =1 wig yfatifue

i F TEyHl F UK T HeET 89 o et €7
(1) U &3 fous) S6en 5 arg = s 8
(2) T &7 foud! SEEat 10 A a1 14F 9 |

(3) T 47 ool SAEen 15 are a1 &t B |
) T & faue shen 20 are @ st 2

fifera & ¥ foram ‘weli = Bl I Ty Siies g’ 39 % 9 fFa €2
(1) Wt W @ W, e (2) vEEl= faww ae
(3) Haq fowm @ie™ (4) g ufass wfaeeA

T TR GER SR 3 T T R # e awiter fowm woiEh (Semdin)  an |
Freafefea | 9 @ fawfe = ot 7

(1) SN Fl 5% F fgan s =nfgwy

(2) ELIREY i AR v yeH A gge fam s e

€A g, = foaan ofafa & o oo femn s afeu

€13 ST, T TF SN 91S & T8 § /@ e e

1
2

3

—

)
)
)
)
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‘Panchayati Raj Institutions should be given a substantial share in the royalty from minerals
collected by State Governments” was recommended by :

(1) 2™ ARC in its 6 Report
(2) 2% ARC in its 15™ Report
(3) NITI Aayog

(4) Department of Investment and Asset Management of Union Ministry of Finance

Which one of the following area dominates the Public Private Scenario in India ?

(1) Health (2) Telecom (3) Power (4) Roads

The constitution of “Local Body Ombudsman’ was recommended by which of the
following ?

(1)  First ARC (2) Second ARC
(3) L.M. Singhvi Committee (4) NITI Aayog

Consider the following statements regarding Pradhan Mantri Gram Sadak Yojana
(PMGSY) :

(@) The PMGSY was launched on 25% December, 2000,
(b) The Yojana was 100 percent centrally sponsored scheme.
(¢) It intended to provide all weather roads to rural unconnected habitations.

(d} The habitations of more than 500 persons in hilly and desert areas were made eligible
for the Yojana.

Select the correct answer by using code given below :

(1) (@) () (9 (2) (&) © (d) G) (@), (b). (d) 4 (@), (), (), (d)

G.V.K. Rao Committee on Panchayati Raj Institutions was appointed in 1985 by :
(1) Ministry of Rural Development

(2) Planning Commission of India

(3) Ministry of Agriculture and Farmer’s Welfare

(4) Ministry of Social Justice and Empowerment
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"ol T s Y W Tl g il ¥ wofed Taedt § @ vate feww few s aifew’ @8
fawrie faeh gra =i T o ?

(1)  ZE yorafie Qur s 5t et Rud |

(2) TEL TR W SN F1 15 o fae §

(3) e s

(4) g faa Hawm & ey v aiiEeia y&us faam

irF el e e d fefra d 9 frm s A aeea 22

(1) w@rA (2) THEIR (3) o= 4) wsH

TG Heensl § Tt ATEREEA %1 fawie Frifea § 9 fres g &t 7 o 2
(1)  Sem TomgfTer Gum STrim 2) ffa gemafe gur smm
(3) veTH. fHeEh wiifs (4) Tifa emm

U T TeS Ao (0 T S g 9E) F wey § frefatea sl w T S
(a) H.Em S TREE. 25 fedat 2000 1 S H T off )

(b) AT A 100 Ui 62 g AT A ¥

(c) o SE¥d fam Yudk arelt Ity afiasl &1 aReArl ugdh yeH w B

(d) 39 IS B veldry UE Heryedly &l § 500 9 st oril i e et sfil s A7
T

1 fau TU = F TE FA TG IR A
(1) () (®) () 2) (@) © @ (3) (@), ®)(d) 4) (@) ®) (©, (@)

1985 B e et weensli deeht ot .. wa wiifa = frgfe s grr @ T o 2
(1) T f5HE Hoera (2) WRT H1 ST AR
(3) & IR fEam e daeE (4) wrEfsIE = R srfirefar e
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Match List - I with List - II. Select the correct answer from the code given below :

List-1 List - 11
{Concept) (Explanation)
(a) Hierarchy i) Number of subordinates to be controlled by the
superior
(b) Span of Control {ii) Superior-subordinates relationship in terms of
control and communication
(¢) Coordination (iii) A subordinate should get orders from one
immediate boss
(d) Unity of Command (iv} Synchronising the programmes and avoiding
duplicacy
Code :
@ () (o (@
O 6 @ @
2 @ @ Gv) (@)
G (v @ @) G
4 @) @ Gv) @

Which one of the following is not a constituent element of British Constitutionalism as per
AV. Dicey ?

(1)  Parliament Sovereignty (2) Rule of Law
(3) Judicial Supremacy (4) Constitutional Conventions

According to Leslie Kish which of the following is/are the basic problem/s of ‘Sampling
Frames’ ?

(a) Missing Elements (b) Foreign Elements
(c) Duplicate Entries (d) Groups/Clusters
Select the correct answer by using code given below :

(1)} (a) only 2 ®).©

@) (b)) (@) 4 @ (b)) (d)

Which one of the following is not an advantage of the Departmental type of governmental
organisation ?

(1) It ensures efficiency in administration

(2) It facilitates the standardization of administrative procedures

(3) It re-conciles the line of authority with responsibility

(4) It enjoys autonomy and flexibility in its functioning

M0
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gt - 1 & gl - 11§ gafea i A= fog T g & @ s & e sty

2
3
4

s T e
e e T .

el - 1 el - 1

( 3raeuT ) (= )

JEHIIA () o= gw fefaE fre o awr sredieeli &6t Hem

foreisror = & (i) FrEw @ gER F Hed § afts-anfiwed % g6y

T (i) TF NI B TF @ Fpean afts & sy faem
I |

SRY Hi TRl (iv) SRR Tl WHERIHER S 91 SelE o T

@ () () @
@ @ G @)
@ @ (v ()
(iv) @) () ()
@) @ @) (@)

ot SREt % srun fefaten § § $n-w fien dfyrmae w1 ves g adi &2

(1)
(3)

HHE i WYY (2)
i gate (4)

FTA T WA
Haufaw Aty

o fre & o ER Fefafen ¥ @ =5 4 sfaey 3 (Fufedm W) +i Ja 9951/ 996 & ?

(a) T O (b) R TS

(©) el yfefiear (d) TR/ FIRT
= fu T e F) TR ¥ W I FH T4 HifA

(1) % (a) @ ®)©

3)  ®) (o) (d) @ (a), () () (@)

fifera & 4 -1 W& SRl F A IR 5 OF o 84 g2

(1)
(2)
(3)
(4)

IS WA ¥ Fvrera qhE W B

e WO IRl o AT W WeEr S ¥

T WftrepR SR STy @it Y § qrerier S 3

I 3T HETITE § T iR Aeie ¥ g9 W 2
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98. Which one of the following is the focus of research related with more specific in its subject of
focus, and it concentrate on certain particular components or characteristics of an
administrative system according to Ferrel Heady ?

(1) Modified Traditional (2) Development Oriented
(3) General system model building (4) Middle Range Theory Formulation

99, Which one of the following is wrong concerning International Monetary Fund (IMF) ?

(1) It was formed at Bretton Woods Conference Primarily by the ideas of Harry Dexter
White and John Maynard Keynes.

(2) It works to foster global growth and economic stability
(3) Voting power in the IMF is based on quota system

(4) The Board of Governors of IMF consists of two goveirnors and one alternate Governor
for each member country

100. In Union Public Service Commission, ‘X’ was appointed as Chairman on 6th October 2013.
The other two members Y’ and ‘Z’ were appointed on 8! November 2012 and 12*" December
2017 respectively. If the dates of birth of X, Y, Z were 2% February 1954, 3 June 1954 and
6" November 1958 respectively, What will be the chronological order of their retirement
from UPSC ?

1) XYZ 2 XZY (3) Y, Z X 4) Y, XZ

~00Qo0-
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98. i 3 F IR FrAfafiga 4 § vy |94 F9-91 Fe-fag a9 Fiea fava & ar + sfys
T & T YIAEHH G o Hiaud fow el Aua st W 2 wiwd % § ?
(1) wenfe WRe 2) fowmrE
(3) g yorel gl i (4) weA WlE g g

99, STRRIST TE BN (AETA.UF.) ¥ weof ¥ Freafafea § @ =7 = wowm 32

(1) ¥&m: g0 S |2 3R S A% fig & foam W 92 88 WHer | 395! e TR
T 7 |

(2) ¥ Afvaes i Ten sfeiw feorean 1 g & % fo F FE )
(3) SR.TA.TE. ¥ Ha<M 61 TFUEHR HIeT FUN T 2eia 2 2

(4) STE.TATF. & NS AF ToHE H T Te&F Q¥ o S T a1 Th Sehieqsh Ta-L qMHe aidl
gl

100. F9 T JaT 380 H, 6 IR 2013 F /X H F70H F 9K R Frg o 1 o= @ wed Y
AT ‘2 HHEX: 8 TR 2012 a9 12 feFw 2017 W Frgewm frn w3 X, v, 2 v fafy
F: 2 B 1954, 3 S[7 1954 91 6 o= 1958 & @ . H.ww.dl. | 37t Janfrafa =1 Heshn
FIT T ?

(1) X%,Z 2) X ZY 3 Y, ZX 4) Y. X Z
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